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Olympiad 2018
Class 9
Important Instructions:

All questions carry equal weightage.

10 minutes are provided for filling the OMR sheet and reading the instructions.
Exam duration is 1 hour only.

Please ensure that this question paper has 50 questions. It is divided into the
following sections —

For class 1st to 5th: Mathematics, Science, English and General Knowledge
For class 6th to 10th: Mathematics, English, Science, General Knowledge and Logical
Reasoning

Every question has one correct answer.

Please read the instructions for answering given on the OMR sheet.

Candidates must submit a completely filled OMR sheet before leaving the hall.
There is no negative marking.

Section A — Mathematics

. Which of the following is not a terminating decimal?

frafafEd & 9 &9 91 T qa1i gxmed 981 22

5/32
61/140
9/625
5/12

In which quadrant will the point (-4, -2) lie?
| quadrant

Il quadrant

Il quadrant

IV quadrant

fSg (-4, -2) T aquizr # gm?
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c. I agfs
d. IV Iguf

3. Which of the following is an equation of x — axis?
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4. Two angles (55° + 3a) and (115° - 2a) are supplement of each other only whena=___

11°
20°
10°
Cannot be determined

G PIT (55 ° + 3a) 3R (115 ° - 2a) Th G b R & haAd dH od, a = __

11°
20°
10°
effed =Y foban s wpar &
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5. Find the value of x in the given figure.

feu e fo | x 1 A J1d BT
A
23°
X
D
400 350
B (
a. 90°
b. 98°
c. 100°
d. 110°
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10.

Find the perimeter of an equilateral triangle having 81v/3cm? area.

81v/3cm? &A% A aTd Udh JHYS FAbI0T ! gRfY &1 gIit?

54 cm
18 cm
8lcm
54 m

The sides of a triangle are in the ratio 3: 5: 7 and its perimeter is 300 cm. Find the area of
this triangle.

TS Y Pt YOI 3: 5: 7 % U A § 3R D! IR 300 cm B 1 39 By &1
& JTd BifeTg |
15002 cm?

1500+/3 cm?
2500 cm?
1500 cm?

The square root of which of the following numbers is rational?
fFrafafed 7 Q foy dem o1 avfne uikaa 82

0.14
7

13
1.96

The degree of the polynomial p(x) = x + Vx2 + 1 s

FEUC p(x) = x + VaZ + 1 B! °Id T /7
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The median of observations 11, 12, 14, 18, x + 2, x + 4, 30, 32, 35 and 41 arranged in the
ascending order is 24. Find x.
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3R T § IR 3faaldhl 11, 12, 14, 18, x + 2, X + 4. 30, 32, 35 3R 41 BT

P 24 B | x BT HMA J1d BRI
24
21
22
20

Section B — English

. What is meant by the word ‘reluctantly’?

unwillingly
possibly
eagerly
knowingly

. When there are zebra crossings on the road for the pedestrians to cross, one Cross

along them.
can

might
should
must

. Which of the following is the synonym of the word “chaos”?

formlessness
disorder
noise
confusion

. Which of the following words is correctly spelt?

discripency
discripancy
discrepancy
descripancy
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Which part of the given sentence has an error?

“For several years now (A)/my newspaper agent has been spelling (B)/my name in
correctly (C).

(A)

(B)

©)

No error

. Which of the following words can be substituted for the given sentence?

“One who studies the working of the human mind”
Neurologist

Anthropologist

Ethnologist

Psychologist

. When the Principal entered the class, a student on the blackboard.

wrote

IS writing
was writing
writes

. Do you mind the window?

closed
close

to closing
closing

. Which of the following gives the most appropriate meaning of the underlined idiom?

“Do not trust a man who blows his own trumpet.”
admonishes others

praises others

flatters

praises himself




20. On entering the house, she found all her jewels
a. steal

b. stolen

c. stealing
d. has steal

Section C — Science

21. Which of the following statements about the Rutherford’s o - particle scattering
experiment are correct?

l. As most of the a - particles passed through the gold foil without getting deflected, the
positive charge of the atom occupies the entire space.

. As very few particles were deflected from their path, very little space inside the atom
is empty.

1. Asavery small fraction of o -particles were deflected by 180°, all the positive charge
and mass of the gold atom were concentrated in a very small volume within the atom.

a. land 1l
b. land Il
c. Ilandlll
d. Hlonly

TRBIS & o — DU Y10 AT & IR & FafeiRad 7 J &9 91 sy 381 82
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a 131
b. 13RI
c. N33R
d. Had il

22. What happens to the inertia of an object when its velocity is doubled?
a. The object’s inertia becomes 4 times greater
b. The object’s inertia becomes 2 times lesser
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The object’s inertia remains the same
The object’s inertia becomes 2 times greater

fopaf} o Y SIS T T BT & STa I 37 ST &) WIIell 22

R B SIS 4 T 3 &l ol &
qE] 1 STSdl 2 7T HH g oIl §
% B S dl A B 2

qE] B TSl 2 AT 31 8l et §

. All noble gas molecules are

Monoatomic
Diatomic
Triatomic
Bothaand b

Tt aifepg AT & 3§

UhUIHD
fgmRHTIS
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. The density of water is maximum at

TS od W 3yNHaA T |
0°C

273 K

100°C

4°C

. A tissue whose cells are capable of dividing and re-dividing is called

connective tissue
permanent tissue
complex tissue
meristematic tissue

TP Hab o] HIRIBTY faHIRTd g1 3R GH: favTiord 1 & 9am gt 8, $oad o
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26. Which sub group in plant kingdom produces flowers?
a. Angiosperms

b. fungi

C. Mmosses

d. ferns

Ty ST § S 91 3U THg Bd Ual Bl 82

27. Which of the following diseases affects our lungs?
. AIDS

.. Tuberculosis
frafaRad & 9 oF W R gAR Bhs! & quIfad Hcl 57
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28. The cork floats while the nail sinks in the water, this is due to
a. Density of cork is more than nail

b. Density of nail is more than cork

c. Density of cork is less than the density of water

d. Density of nail is less than the density of water
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29. Buoyant force exerted by different fluids on a given body is
a. same

b. different

c. 0

d. negligible
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30. When an object is released freely from a certain height without applying any external
force, then the object

will move upwards with accelerated motion

will move downwards with accelerated motion

will move downwards with constant velocity

will move upwards with constant velocity
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Section D — General Knowledge



31. Who was the first noble prize winner in India?
C. V. Raman

Rabindranath Tagore

Amartya Sen

Kailash Satyarthi
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a. WAt HA
b. fdeTy SR
c. M I
d. parer geandf

32. Where is the World Health Organization (WHO) situated?
a. Geneva

b. Hague

c. London

d. New York

fay Ty T+ (WHO) F8l fUd 82

fomar
7
ded
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33. India’s literacy rate is
URd 1 &R R 3
74.04 %

93.92%

75.5%

63.82%
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34. How many languages are there in Indian Rupee note?
YR 0T & e & a1t U 87

10

18

15

17
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35. Who was the first deputy Prime Minister of India?
Pt. Jawaharlal Nehru

Dr. Sarvapalli Radhakrishnan

Indira Gandhi

Sardar Vallabhbhai Patel

HRA & Ugd U Uy HaAl i 2
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36. Which state government observed ‘Save Water day’ on 12 July 2019?
a. Punjab

b. West Bengal

c. Haryana

d. Karnataka

12 TS 2019 B! fhd o0 RBR A oI Fa1sf [gaw FA[EP
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37. Which country will impose a ‘Green tax’ on plane tickets from the year 2020?
a. Spain
b. UK



c. France
d. India
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38. Which country lost the 2019 Cricket World Cup to England?
a. New Zealand

b. India

c. Australia

d. South Africa
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39. What was the theme of world environmental day 2019?
a. Water pollution

b. Air pollution

c. Noise pollution

d. Soil pollution

fay gafavor feaw 2019 &1 fawy o Ui
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40. Which day is observed as GST day?

for fam 1 Sied fiiaw & =0 & 5= 971 g2
1 July

15 July

5 July

7 July
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Section E — Logical Reasoning

41. Directions: Study the following coding schemes and select from answer choices
appropriate code for the given word.

frder: fafaiaa SIS aiemrsll &1 sreqa B 3R IR fawed # ¥ fau T reg &
foIu IUgad i &1 I B |

L I M E D S @)
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1 2 3 4 5

(2]
~

SOONEST

6778569
7665469
6788469
6778469
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42.6 people A, B, C, D, E and F are standing in a circle. B is between D and C. A is between
E and C. F is to the right of D. Who is between A and F?

6TNTA B,C,D,ERFIGFThAdH WS BB, DIRCHAIRIA ENRCIH
81F, D P T 3R Bl A 3R F & dig B 87
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43. If WONDERFUL is written as EWONDRFUL in a certain code language, how can
KNOWLEDGE be written?




3R WONDERFUL &1 Te fAf3d P HIWT § EWONDRFUL & ¥4 H forar Sirar g,

d KNOWLEDGE &1 &9 forar ot Iahdl 82
EKNOWLDGE
KNOWEDGEL
LKNOWEDGE
EKNOWDLGE
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44. Find the number which will replace the question mark in the given grid.

g8 IB1 J1d &+ SNl fGu U IS | Uy g &1 ded |

225 64 23
16 1 5
49 81 ?
a. 71
b. 16
c. 60
d. 30

45. Direction: Study the following arrangement carefully and answer the question given
below:

[R*TJL2$D=M#8C%B<K1&AW?PE+Q@7F6 |
How many such numbers are there in the given sequence, each of which is immediately preceded
by a consonant and immediately followed by a symbol?

Nil

One
Two
Four

fafRad crawT &1 AFYa® 3T HL 3R - fGT T Uy HTIW <
[R*TJL2$D=M#8C%B<K1&AW?PE+Q@7F6 |
fau 7T 3 eHH T T fham e &, oMo ¥d Ugd U ool 3R qid a1 U g 87

a. YA
b. Th
c. @
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46. Gaurav walks 20 meters towards North. He then turns left and walks 40 meters. He again
turns left and walks 20 meters. Further, he moves 20 meters after turning to the right. How
far is he from his original position?

30 m

60 m

50 m

. 20m

TRT IR BI 3R 20 Hiex Tad g1 98 fh a1 gear g 3R 40 Hiex gaar g1 ag i @
10 g1 § 3R 20 Hiex Iadl 5 | 3 3(ETdT, I8 T8 3R S & &1¢ 20 HieR IadT |
I8 3 Jd ®H ¥ fha R 82

30 m
60 m
50 m
20m
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47. If wall is called window, window is called door, door is called floor, floor is called roof
and roof is called ventilator, what will a person stand on?

Window

Roof

Floor

Ventilator

3R AR &) RASH! H8T ST 8, RASH! P SATST Hel ATl 8, ST DI BR BT Sl
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48. Which of the following pairs show a perfect reflection over the line?


http://clay6.com/qa/60901/if-wall-is-called-window-window-is-called-door-door-is-called-floor-floor-i
http://clay6.com/qa/60901/if-wall-is-called-window-window-is-called-door-door-is-called-floor-floor-i

Fafafed 7 3 o O o) argd R get ufafse fezardt 82

C.
d.
49. If two days after tomorrow will be Sunday, when was Monday?
Day before yesterday
Two days before yesterday

Today
Yesterday

3R & Y &l f& d1g IAIR I, df THAR H UT?
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50. Pointing out to a girl a man said "My uncle is the uncle of this girl's uncle”. How is the
man related to that girl?



Cousin
Brother
Father-in-law
Father

UH ASH! B! 3R SIRT B §U U SGH! A Hel TR A 3 ASH! &b dTal & dral g |
3TGH! 3T ASH! I H Hafdd g2

TERT HTE
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a.
b.
C.
d.

54 A





